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— ~ Find a general solution of the following equation (10%)
y =5y + 6y =-3sin(2x) .

=~ Let z=cos(x,y), with x and y any numbers. Find the normal vector
on the surface at any point (x,y,z) . (10%)

= +Let R= 3t2?—— sin(t)T+ ZtE, for a<t<b.
Where s is the arc length along the curve described by R.
Please find dR/ds=? (7%)

w ~ Let F=-i+xyz-y’k, and (8%)
let C be given by X =1, y =\t z=1 t:-1-1

Please find LF =1

# ~ Solve the following boundary value problem  (15%)
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With B.C.

y(0,t) =y(L, )=0 (t>0)
y(x,0)=0 (O<x<L)

g(x, 0)=g(x) (0O<x <L)
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with N(=-3, Yle)=s (>=22)
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